NV-BDIZC

Kk kK

SFF

SFF, X

(509 2 |s05| 3 |s15 | 4 |

$26
$66

$36
$76

(589 | 2 |sES | 3 |sFs | 4 |

3 [s95 4
3
3 [so4 4

SFF, Y

SFFFF

SFFFF, X

SFFFF,Y (SFFFF) (SFF, X) (SFF) , Y

$7D

Operation [abs/

ind

X/Y cycles +lc if page crossed]

4/5 [$79 [ 4/5 561 6 |$71 5/6

$3D

A+C=A+M+C

4/5

$1E

$4D

4 $5D

7

[ sc1| 6 |sD1 | 5/6

4/5 541 6 [$51 5/6

SEE

6 SFE

7

(581 6 |$B1 | 5/6

$2E

$3E

501 6 |s11|5/6 |

S6E

| $ED | 4 |SFD | 4/5 [ 579 | 4/5 |

$8D

596 | 4 [sem

$8C

STE

4
4
4

| 5E1 ] 6 |sF1 | 5/6

$81 6 |s91 6 |

A=A&M

A/M=C<<A/M<<0

Branch on C=0; +1lc if taken; +2c if taken+page crossed
Branch on C=1; +1c if taken; +2c if takent+page crossed
Branch on Z=1; +lc if taken; +2c if takent+page crossed
7=A&M, N=M7, V=M6

Branch on N=1; +lc if taken; +2c if takentpage crossed
Branch on Z=0; +1lc if taken; +2c if taken+page crossed
Branch on N=0; +1c if taken; +2c if taken+page crossed
[ST]=PC+2, [ST]=P

Branch on V=0; +1c if taken; +2c if taken+page crossed
Branch on V=1; +lc if taken; +2c if takentpage crossed

Cc=0

D=0

I=0; enable INT

S

V=0

P=A-M

P=X-M

P=Y-M

M=M-1

X=X-1

Y=Y-1

A=A"M

M=M+1

X=X+1

Y=Y+1

PC=ADDR

[ST]=PC+2, PC=AD

DR

A=M

X=M

Y=M

A/M=0>>A/M>>C

No Operation

A=A|M

[ST]1=A

[ST]=P

A=[ST]

P=[ST]

A/M=A/M ROL C

A/M=A/M ROR C

P=[ST],PC=[ST]

PC=[ST]

A=A-M-~C

c=1

D=1

I=1; disable IN

Ts

M=A

M=X

M=Y
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